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O AL 4,828,150& = 20ha 96,563
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=
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1,688
3,937
1,200
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OAUR MMasY ot &8 AXl
60,000 = 10074 6,000
OAUR MEsY LH & WEEs U X
900,000& * 14 ~ 12& 10,800
02 Z2=2=294| 3,153 780 2,373
OXteldols ZHHE HHIIAH KA 600
—JHSY S 30,000& * 204 600
OALS THEasY 2Ho2E8 Aleds =l
6,000& * 30H 180
OA2UR MEEY o4& DAI2 HAHA JIHE &
3 1,861& = 2004 373
OAULSR THEEY OlssSHxzA IR
200,0008 * 102 = ¥ 1,000
O2LUSR MEsY 2 JIAHEY 722
200,000& = 504 1,000
206 M = Hl 8,000 0 8,000
01 X2 H| 8,000 0 8,000
OAULS THEsY &M M 9,0008 = 5004 4,500
OA2UR MEsY 2H 24
7,000€ * 50004 3,500
AMEGTI XK (2) 585,761 577,833 7,928
= 234,304
& 105,437
Al 246,020
101 2121 4| 502,995 475,967 27,028
= 201,198
& 90,539
Al 211,258
04 JIZtHIZ22XNSE S 502,995 475,967 27,028
ONESHZHEXSICE o124
45,0008 * 60 * 150 405,000
= 162,000
= 72,900
Al 170,100
OUEHSULHEN ZH4+Y
50,000 = 6H x 53] 1,500
= 600
=} 270
Al 630
ONESHZHEANSIN EE=
1,208,250 * 60YH 72,495
= 28,998
=} 13,049
Al 30,448
ONESHZUHEANSIN 225
400,000€ * 60H 24,000
= 9,600
o= 4,320
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= W
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ONST SSH(LYXE)
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= M W

02

=z MW
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1,834

Z N H

202 o4 Hl 7,000 7,000 0
2,800
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2,940

= N H
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W
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M 2
[==

7,000 7,000 0
20,000& = 3503l 7,000

2,800
1,260
2,940

O
=z

>
ton
W
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= M W

206 M= Hl 30,000 27,500 2,500
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5,400
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= N W
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Oel astad 7¢ 500,000 * 60set 30,000
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=z o W
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= Hn W

2,400
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=
SUHE 2HI OH 2

800,000& * 3CH

= N H

2,400
2,400

960
432
1,008

23,900

A 21,500

Al

968,700

193,740
774,960

960,050

8,650

Al

453,600

90,720
362,880

453,600

040|222 s E+

Ott=ZAIE Q12|

42,0008 * 60F = 180

= M

453,600

453,600

90,720
362,880

453,600

= M

420,400

84,080
336,320
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12,000

400,000,000& » 1CH

s
MEZAIE AX 2T AIAE

8,400,000& = 12/

OMNSEHIME 7&  200,0008 » 60AIE

H

Al

H

Al

= M

400,000
400,000
80,000
320,000
20,400
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1,680
6,720
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2,400
9,600

400,000

8,400

12,000

206 M= Hl

in

Al
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01 M= dl
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O
[z
M
0y
=
o
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Ottss tANg NHsesD
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H
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= M

H
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42,500
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= MW

01 Al&Hl 185,860 64,200 121,660
OAURMWAEY DAS M
27,498,000 * 14! 27,498

19,249
2,474
5,775

= Hn W

OLU=2R T

rx
Of

g LR FA
2,515,800& = 5ha 12,579
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Otz 2el 5,350
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Ogtx2 100,000& * 128 1,200
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01 2U 01 b 84,640 84,640 0
OMSXT Y2ET ofb] 84,640
— 2 od 20,000  23Y » 122 » 12& 66,240
— 220yl 80,000& = 23H =+ 10 18,400
203 R =&l 4,200 4,200 0
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